MANVJ AWIsRat

| RREER P & HER]
ETFE7v#RE 2.7 750"

- ®mARILE

H
ETFEO—FTa4VJR/N\VF
2\vZIL:SUS 304
Rk +Fvbh:SUS 304
NV REE:SUS 304
ifedElis - 7w s (ETFE)
ZFVLZ | W | BA |RE | RE| B | B | | 4
m & SG | B | W) | () |RILE| B:N
EG10120-0015 15A 21.7 | 25 0.6 | W3/8 | M6x25] 27 | 65.3
EG10120-0020 20A 27.2 | 25 | 0.6 | W3/8 | M6x25| 27 | 68.6
EG10120-0025 25A 34.0 | 25 0.6 | W3/8 | M6x25| 27| 72.0
EG10120-0032 32A 42.7 | 25 | 0.6 | W3/8 | M6x25| 27 | 76.4
EG10120-0040 40A 48.6 | 25 0.6 | W3/8 |M6x25| 27| 79.4
EG10120-0050 50A 60.5 | 25 | 0.6 | W3/8 | M6x25| 27 | 85.4
EG10120-0065 65A 76.3 | 32 1.0 | W3/8 | M8%25]| 27| 95.4
EG10120-0080 80A 89.1 32 1.0 | W3/8 | M8%25| 27 |101.8
EG10120-0100 | 100A | 114.3 | 32 1.0 | W3/8 | M8%25| 27 |114.4
— ~ NI - \\\ EN\Y
ETFE7“/§ﬁﬂb OA—F7 4 >J3/I\VF
ARINE  emaEsmE 180°CILTF
272 LR
H
Ny

ETFEa—FT4>»Ji\VF

AIVh-FvhiSUS 304
NV RREISUS 304
Hasials : 7o RHls (ETFE)

2FVLZ | W | B8 e | RE| o | BE | c | n
g & |sG |BE|W|© BN

EG10220-0015 | 15A | 21.7 | 25 | 0.6 | 20 | M6x20 | 47 | 58.8
EG10220-0020 | 20A | 27.2 | 25 | 0.6 | 20 | M6x20 | 47 | 62.1
EG10220-0025 | 25A | 34.0 | 25 | 0.6 | 20 | M6x20 | 47 | 67.1
EG10220-0032 | 32A | 42.7 | 25 | 0.6 | 20 | M6x20 | 47 | 71.4
EG10220-0040 | 40A | 48.6 | 25 | 0.6 | 20 | M6x20 | 47 | 74.3
EG10220-0050 | 50A | 60.5 | 25 | 0.6 | 20 | M6X20 | 47 | 78.9
EG10220-0065 | 65A | 76.3 | 32 | 1.0 | 20 | M6x20 | 47 | 87.8
EG10220-0080 | 80A | 89.1 | 32 | 1.0 | 20 | M6X20 | 47 | 94.2
EG10220-0100 | 100A | 114.3 ] 32 | 1.0 | 20 | M6X20 | 47 | 106.9

41



